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NSC

INSTRUCTIONS AND INFORMATION
This question paper consists of THREE questions. Answer ALL the questions.

2. Number the answers correctly according to the numbering system used in this question
paper.

3. Start EACH question on a NEW page.

4. You may use an approved calculator (non-programmable and non-graphical), unless
stated otherwise.

5. Show ALL the calculations clearly.

6. Round ALL the final answers off to TWO decimal places or according the given context,
unless stated otherwise.

7. Indicate units of measurement, where applicable.

8. Write neatly and legibly.
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[.1 | Mrs Holmes was sent to the bank by her company make a deposit. Below is the deposit slip
for the bank. _ :
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Study the
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deposit slip and answer the questions that follow:
Write down the Drawer’s name for the cheque.
Calculate the value of A, the total cash deposited.

Determine the value of B, the total amount deposited.

The cheque is cleared on the seventh day (excluding Saturday and
Sunday) after it is deposited. If the cheque was deposited on a Friday,

state the date and day of the week that the cheque will be cleared,
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1.2 [Mrs Holmes decides to make and sells beaded earrings to supplement her income.
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The starter pack kit to make beaded
jewellery cost R99,00.

Each set of earrings cost R4,50 to make.

She sells them for R10,50 a pair

1.2.1

1.2.2

1.2.3

Mrs Holmes made 50 pairs of earrings over a 3-month period.

(a) Show that her total cost including the starter pack will be
R324,00 )
(b) Calculate Mrs Holmes profit if she sells all 50 pairs of earrings. (2)

If Mrs Holmes makes and sells 100 pairs of earrings, her expenses will be
R549,00 and her profit will be R600,00.

Calculate her percentage profit using the formula;

rofit
Percentage profit = e % 100%
exp enses

Give the answer rounded off to ONE decimal place. 3)

Mrs Holmes deposited RS 000,00 in a fixed deposit at an interest rate of
6,8% compounded annually.

(a) Define the term “interest rate”. 2)
(b) Calculate, showing all steps, how much Mrs Holmes will have
in total in her account after two years. (5)
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1.2.4 Mrs Holmes decides to investigate the bank fees for withdrawing money

using her own bank ATM.
TABLE 1 below shows the bank fees for withdrawing money from
different banks as well as how much it would cost to withdraw R1 000,

TABLE 1: Bank Fees for different South African banks

Copyright Reserved

Name of | Bank fees from own bank’s Fees per R1 000
Bank ATM ‘ withdrawal
A R3,95 +R1,30 per R100 R16,95
B R4,00 -+ 1,20% of amount R16,00
C R4,00 + R1,32 per R100 X
D R35,50 R5,50
(a) Show that the value of X is R17,20
(b) Describe the shape of the line graph that would represent the

fees paid for withdrawing money from Bank D.
(¢ Bank A charges R23,40 for withdrawing R1500,00.

Determine, showing all calculations, whether Bank B charges
more than Bank A for withdrawing R1 500,00
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2.1 [Mr Simemane is planning to take his class on an excursion to an animal farm. He

needs to prepare a questionaire for the learners.

2.1.1

2.1.2

2.1.3

2.1.4

Define the term “questionnaire’,

State ONE valid reason why Mr Simelane gave his learners the
questionnaire,

State whether each of the following questions are suitable or unsuitable
for the questionnaire to gather data about the animals at the animal farm.

(2) Count the number of different types of animals at the animal
farm.

(b) Write down the time taken to go to the animal farm,

(©) State the mode of transport used to get to the animal farm.

Write down another way of gathering data besides a questionnaire based
on this context,
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2.2 The water troughs at the animal farm either have a circular base or a rectangular

base.

Dimension of rectangular based trough

Picture of a rectangular based trough

4
NSC

Common Test September 2016

Picture of a circular based trough

Dimension of circular based trough

¢ Radius (r) = 1,2 m
Length (£) =2 m Height (h) =1 m
Breadth (b) = 1,5m
Height (h) = 1 m

2.2.1 Calculate the area of the base of the circular water trough.
You may use the formula:

Area of circle = 7 X radius® using = = 3,142 _ (3)

222 Mr Simemane asked the learners to investigate which of the water troughs
can carry the most water.

(a) Calculate the maximum volume of the rectangular based
trough.

You may use the following formula:
Volume of rectangular prism = length x width x height (3)
(b) Calculate the maximum volume of the circular based trough.

You may use the following formula:

Volume of a eylinder = 7 x (radius)® x height

using © = 3,142
(3)
[21]
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QUESTION 3
3.1 [ The school govemihg’bbdy of Protea Priméry School decides to hold a Fair on the
school ground to raise funds. They erect a fence around the rectangular field.
The layout plan for the fair is illustrated below.
LAYOUT PLAN OF THE SCHOOL FAIR
Entrance B Entrance A
Pickle stand Ball Games '
Car Park 1
Toilet block
Ice~cream, Jewellery
Food and Cooldrink, stand
tea and chips and
cake S sweets stand
Children's play
garden area :
Kitchenware
stand
Burghers/hot dogs
1 . and chi
Kiddies fun rides and chips computer N
ames
Car Park 2 & 1
 ——
Entrance C

Copyright Reserved

State the general direction from the Kiddies fun rides to Car Park 1.

Write down the number of stalls where games are played.
State one reason why Entrance B is for pedestrians only.
Name one item that could be sold at the jewellery stand.

The actual length of Car Park 2 is 30 m.

(a) Measure the length of Car Park 2. 7
(b) Determine the scale used to draw this layout plan in the format
| I
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3.2 | The computer is set up on a stand. The assembly instructions to set up the computer
stand is given below but NOT in the correct order,

A B

Arrange the set of instructions, in the correct order, to assemble the computer stand,

3.3 The pickles are sold in cylindrical glass jars with a radius of 3,5 cm. the jars are
placed in a rectangular box as illustrated below.

The jars are packed close to the sides of
the edge of the box. The cardboard
separating the jars is 0,5 cm thick.

3.3.1 Write down the diameter of the glass jar

332 Determine the minimum inner dimensions (length and breadth) of the box
if there are 12 jars in the box.

Common Test September 2016
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NSC-Memorandum
No Solution Explanation Levels
124 )

(@ |X= R400+RI130x 10vSFYA
= R4,00 + RI320

1 SF substimtion
1 A cotrect values used

= R1720
@)
| 1.2.4 | A horizontal line parallel to the X-axis v'¥'A | 2 A explanation 2
(b) ) @
1241 Poos = R4,00+ 222 R1 500 v'SF o L3 and L4
© . 100 1 SF substitution
" | = R4,00 + RI18,00v'S 1 Simplification
= R22,00vA 1 A solution
Baok B charges lessv'O 10 conclusion
@
B

Mathematical Literacy 3 Common Hmf ‘\ﬂoEcmn 2016
NSC-Memorandum
No Solution Explanation Levels ‘
1.2.1 vM 12
(@) | Total cost=R99,00 + (R4,50 x 50) vM 1 M adding
= R324 1 M multiplying
2] .
12.1 vM 1M multiplying L3
(b) | Profit = R10,50 x 50 — R324vM/A 1 M/A subtracting cost
=R525 YCA 1 CA profit
T»bmion only full marks
. 3) , ] .
122 fi , 12
Percentage profit = _profit x 100%
. expenses
R600
= Rsgg * 100%¥M 1 SF substitution
~109.3% YA 1 A simplification
@ _?msﬁ only full marks
12.3 | The percentage of a loan charged as inferest to the . L1
(a) | borrower vV A 2 A definition .
(any other suitable definition)
@
1.2.3 | After 1 year: ) 14
T 0,
(b) Amount = RS 000,00 106,8 MY A 1 M increase by %
100 1 A correct values used
=RS5340,00v'CA 1 CA simplification
After 2 years
3 0,
Amount= R5 340,00 x Hw%% M 1 M increase by %
=RS5 703,12v'CA 1 CA simplification
&)
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No | Solution Explanation Levels
331 {7cmvVvA 2 A diameter 12
@ @)
33.1 ) L3
(®) |Length=4x 7ecm+ 3% 0,5cmvM 1 M multiplying/adding
=295cmvA 1 A simplification

Breadth=3x 7cm+ 2% 0,5cmvM 1 M multiplying/adding
=22 cm v'CA 1 CA simplification
. C))
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